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3 The average price of 80 mobile phones is Rs.30,000. If the highest and lowest price
mobile phones are sold out then the average price of remaining 78 mobile phones is Rs.
29,500. The cost of the highest mobile is Rs.80,000. The cost of lowest price mobile is? 20
Boﬁfﬁa”ﬁ"maﬁ‘\’ﬁmﬁ3o,ooo%|u%aﬂwaﬁvwm$muﬁﬂﬁaﬁv} o b
s € 1 99 78 Harger B @ altad ged © 29,500 B Wi ¥ | ARGTH G W APT BN~ —
e ATEE B BT B 80,000 ¥ | RFIE qed W A B AT Aarger BT A A qar 210

(C) Rs. 19000 Rs. 15000

(D)’ Can't be determined/fif¥ea =&l & AHd

2. ‘In a Company the average i i nth.

ge income of all the employees is Rs. 20000 per month. .
_I?ﬁcently the company announced increment of Rs. 2000 per month for all the employees.”
qﬁe new average income of all the employees is?/ T& HU ¥ T4t HHAIRAT DI 3T 3T
W;@:n\?a 20,000 & | BT & # SO A 2000 WA WET A gf, W HEARA B amg A
(A)  Rs.1,22000  (B)  Rs. 24000 (C) Rs.28000 (D) Rs.26000

3. Pranav went to the bank at the speed of 60 km/h while returning for his home he
covered 'the half of the distance at the speed of 10 km/h, but suddenly he realised that he
was g_ettlng late so he increased the speed and reached the home by covering rest half of
the distance at the speed of 30 km/h. The average speed of the Pranav in the whole
length of journey is? WoTT & 60 1 /TeT & WS W AT o fabeg TR GO B, FHY. SEH
ameft g 10 bR/ Eer B R W qT B | orEmE 9 W b a8 oe & 8] o a1, SEH, O
s 9g1$ ik arh ) g8 gft 98 30 fpdt /der o R ¥ 99 P §¢ O UEW I ) T
AT H gorg @ e iy @ off? ' SRR

(A) 24 km/h/24 f&H. ufer Her (B) 14 km/h/14 fft. Ry wer

(C) 16 km/h/16 fdt. ufer wer (D) 10 km/h/10 ¥ uRY Her
4. The average expenditure of Mr. Sharma for the January to' June is-Rs: 4200-and he

spent Rs. 1200 in January and Rs.1500 in July. The average expenditure for the months
of February to July is? ST @7 ST @ ST T 3T afferel wral & 4200 ® 8iiv 98 % 1200
S 3 iR 1500 Seng # U BT § | XA A e b B ARl BT e WA

(A) Rs.2750 () Rs.3250 . (C) Rs. 4250 (D) ‘Rs. 4500 ,
i le present all shake hands with
;s At the end of a business conference the ten peop .
Zach other once. How many handshakes will there be a!tqgether? T TR THEH B 3 “%
ﬁwﬁmﬁwﬁmmﬁaww%ﬁwmmﬁwﬁ%lagaw_aa%ﬁpm %
(A) 20 (B) 45 (C) 55 (D) 90 ... .
6. The average presence of students of a class in a College on Monday, Tuesday and 96

. i d Saturday is 30. If the

sday is 32 and on the Wednesday, Thurgday, Friday an

\glicrigge n:mber of students on all the six days Is 26 then the nu%bt;a;f 15s_rtuden'ts yvr_:t% %

attended the class on Wednesday is? HFAR, e 3R AR fenferat 5 6
M&wa:% - 156 3y



B
(A) 50 ( ) D (C) 60 (D) 70

5 Suresh started his journey from p & o _
then, the same distance he travelied on histfogt gtyt#éssgg(:da;ft? 0 kanvh from QoR Then
he returned from R to P ki Q at the speed of 24 km/h. The average speed of the wholo
trip is: g¥¥r a1 AT P mem@mﬁ}iﬁqﬁwﬁnﬁﬁ%m%aﬁ?
quaagmmw'mwﬁﬁﬁﬂ'ﬁﬁ'wmm% | bR a8 R &

P, Q@ et 24 fll. WY EeT B TR ¥ aroeht e @ 1 q@ Ay o ovraa wfy
(A) 185km/mh (B) 19.8km/h  (C) * 18.2 km/h (D)  19.2 km/h

8. Ramesh walked 6 km to reach the station from his house, then he boarded a train
whose average speed was 60 km/h and thus he reached his destination. In this way he
took a total time of 3 hours. If the average speed of the entire journey was 32 km/h then
the average speed c_Jf walking is: Y I TR Y I 6 Uga @ forg 6 fard. Yeor Tordl
R, fox a8 1@ Y H G O ® Rl siwa i 0 R Ry ey @, e @ eroed viaw
@M T Ugd W € | ¥9 TR W T8 Fof di 6 BT wHg o & | afy qf aran @ A
atga wifar 32 fadr wfy wer off ar U5 =e . 9 s Tty of:

(A) 5'km/h (B) 8 km/h (C) 2km/h (D) 4kmih

9. . 'Bala travels first one-third of the total distance at the speed of 10 km/h and the next
one-third distance at the speed of 20 km/h and the last one — third distance at the speed

of 60 km/h. What is the average speed of Bala? ‘a1 arar @ gal g¥ &1 - Td 10"
fr uftr "er @ Ty F ofiR arTen e fEE o8 20 f. wfa wer @ ey 9 @R anfRad ww

ferers 60 fadl. wfcr wier @1 A @ Har € 4 g B Sdew o w@moe? 15*‘01-—‘3-»"2"
(A) 18 km/h (B) 19 km/h ..~ (C) - 16km/h - (D) - 12km/h - f._\;xl

10. = The distance of the School-and house of Suresh is 80 km. One day he was late by l;f"'
1 hour than the normal time to leave for the college; so he increased his speed by 4km/h .
and thus he reached to college at the normal time. What is the changed speed of Suresh? -
T & ferer 3k e & 4" B30 g0 5. ¥ | v 7 9% fge” 9M @ T W Be

F WY W Y U Hel oie o @ Se AT T 4 R ufy et @) ax ¥ aerd oiR 5w
TR IE fAETey v W WHT W g T | R @ geel g8y @ o

(A) 28 km/h (B) * 25 km/h (C) 20 km/h (D) 24 km/h

éé'es a?ggakgoles to College at 20 km/h and reaches college 4 minutes late. Next time she

is the di m/h and reaches the college 2 minutes earlier than the scheduled time. What .

q§'ﬁﬁe1 %'Ttamnce of her school? &=fieT Plerer 20 famfl. wfy wier @1 TR & Wy 4 FFE o€
IR 9§ 25 fHA. of Her 4 1y ¥ o :

R 96 B A T 7 & 2 fReiRa g | 2 fase g@ ugad

A 16km @) 12km (C) 15km (D) 10km

m \
= DT v




rt from each other. T (4]
R and S are 800 km apa er. Two persons start from:

; dTv;OaltJlaagP}zteww of 2 hours. Whereas A leaves R for S before B. The Srondis 21#
towaé :re 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way fros
anftcﬁ) S. What is the ratio of time taken by :ﬁfn:ng 'o meet at M? @z R ok S s
gsoo'f?ﬁﬁf?% | & afw fga;;?nS;?Aeﬁ?Ba)fﬁ?ﬂuéﬁ AR H T B ¥

qgat R @ ferg ’T%W:atoa.ﬁ’\reoﬁ,—m.gﬁ.da

A S SR RA S D ey
ﬁ’ A 3 3T fHe 9T €, S R E | MW fem & forg Adle
N'qz é.""__)

A) 1:3 (B) 1:2 C) 14 (D) 3:2 }

S are 800 km apart from each . 2y
13, Two places R and ach other. Two persons start from?
towards S at an interval of 2 hours. Whgreas A leaves R for S before B. The speeds of@
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the Way f,-‘bfa
R to S. What is the distance from R, where B overtakes A? 3} zem9. R ailv S TH A
gop ol W & | & AT R A S I ok & H & siervrer ¥ g awdt & | ol A, R
fr, S @ B ® g Faer W veer Fiaerar 21 A 3l B <t @ Ry per 40 o 60 AR
seer #1B, M TIRA & M et ol 8, S f5 R9 S & vy i @ lx—rrefrrvB,Aﬁ,ajﬁj
e omen &, 98 R 4 fhan w27 - | e
' e 2 (F5ye
(A)260km _  (B) 235km - (C) 240km (D) 300 km "é
14,  Ajay covers certain distance with his own speed but when he reduces his speed;f
10km/h, his time duration for the journey increases by 40 hours while if, he increases i
speed by 5 km/h from his original speed; he takes 10 hours.less than the original tlmp
taken. Find the distance covered by him. 3w/g T fAf¥ad & st 7fy & 7 Fear §W
o4 a8 S ARy # 10 Rl /e @ ol o & o Swa amn o ety 40 0 as i

s

-

K

R 10 HeT FH ol ¥ | SHD BN 79 A TE g8 q@? L e
(A) 1000 km f&#  (B) 1200 km R+t (C) 1500 km f=h (D) 1800 km fah '
15.  The driver of an ambulance sees a bus 40'm ahead of him, after 20'seconds, the@}’jp
is;60 meter behind, If the speed of the ambulance is 30 km/h (f41 /¥ieT), what is the speed
.of the bus? T& TUgeidl T Hicih T I ST X&T ¥ P 40, HSY I W &, 20 4P B
R IS 60 Aew MY A &1 AT Wgr AR 30 B/ TR B A I A Y A
(A" "10km = (B) 12 kmd - =T T(C) ARk (B 22 k7 B
her, one from A to B and ‘a.rgbt'r']e,)r fromﬂ
he first rabbit reaches ‘B, 5/6 hotir be’fo%

morp p:.l

18.  Two rabbits start running towards each ot

to A. They cross each other after one hour and t : .
the second rabbit reaches A, If the distance between A and B is 50 km, what is the spe

of the slower rabbit? a7 & TH TR H AR A WEI T AN B @I i 3% THE
Aaﬁaﬂ-\wagaﬁ'mwﬁwﬂ%mmm%‘mm'mﬁrﬂ“?ﬁgg‘ﬁ
ET A 5,6 e yger ugedm 1 AR A ok B & g @ @ so R @ o e i 9
N A A e L B
(A) 20km/h  (B) 10km/h (C) 15km/h (D) ~ 25 km/h ;:%

L
9



[k

%-',' _ pranav walked at 5 km/h for certain part
N i i a ;
remaining part of the journe part of the jo

he ney, what part of journey did pravelling at 25 kmyjy.jr'cY 3d then he took an auto for

'be 17 km/h? 9vrg arar o travelled by auto jf th took 10 hours for the entire
foumey, oy 5P Fifea g 5 fae 2verage speed of the entire
gmmﬁﬂéﬁmﬁa‘r - IRy R 9y et 2 i % e areran
g @ fe 10 Y Wm%ﬁmwwﬁaﬁﬁ%ﬁmﬁmvﬁ?qﬁ @
' A T

S

A 750 km (B) 100 km %

!’_,.? (€ 150 km (D) 200 km

“‘ 5,12, 2,41,.87, 214

(A)19 (B) 35 o € 22 (D) 26 - s

5§ 14,7, 13,17.5,21.75 b ae v v, s e - 2 |

19 1 . ’ B 12 Bty o o . o “‘51_6“

A, 10 R 12 , (C) 125 (D) 13.25 ’ 9

t ;‘. - '? = 2 ; .

8,6, ABSBTO2 v i e L

21, Find the sum of first 30 natural numbers wer 30 R L SR CF

A47o - (B S D (€)' 465 WBYDY. 463 -

23! "'56% of Y is 182: What is Y? Y &7'56% Me2<& | a1y @am &2 - . = 106 S

(Rads nros se W b N TG BT s ey T R ) § %, . o =15

(A) 2350 . ', ~(B)gis 7 - --364 . . ...(C) 325..7° .. (D). 330 Keaames

23, ' Which of the following two ratios is greater 17:18 ‘and 10:112 ‘&¥at 3rUTdT 17:18 AR
S ' ; ' - ‘_‘11,' -l e .'.'- . oy 4

101 % ¥ 3T g1 87
[ "igfigett O BANWASE Gy Vel o TR s R
AQ)w: Both.are same, 3] ¥y W8 (), -Cannat delenmine, Fifverat sxgmd
24" "Iri a'palace, supplies aré available for'35 days for only 75 padple: 15 Giests arrive
jn .rt.hz.a palace for vacation on day:1_itself. For how many days will these supplies be
gufﬂc'ent for all these people? Ta W< u% Bdel 75 fdal & feg 35 Al a@ amgfc Sucrer
£ 19U X W gfeeyl & forg, yger fam & .15 ifafdy om v & ) feaw Rt @ forg, @@ ogfif
Bl @Afat & forg gafey weeh?
,,i,?“‘).:f 190 days 37 (B) ‘11‘.25 days & ' (C) 42days f&T (D) ' 22.5 days R
;ﬁn;,=.f;'d(fference' between Compound Interest & Simple [ntérest on' a certain sum of
-¥a.gf?;yr§-,,,@ 0% p.a. is Rs.122. Find the sum? af <1 a6l & forg, gw ffea
IR 5 Mgﬁﬁﬁ.?ﬂ@’ﬁmm%%ﬂﬁwmﬁm 2, o IR BT ue

A _
“ - Rs.14000 (B) Rs. 15000 (C) Rs.16000 (D) Rs. 17000
‘5"" : 5 P 6 L ¥

: Mo TSt p’{g.f\{‘\z'%\




AN Youth Sumimit Was Beid ffom tath _ 1gth pyg g o0,
) ' in;

Rd i q
(B) Mumbai 97 (C) Bhopal #yrg ng)qéhennaiﬁwg

commence in September 201

vika Sagar Parikrama’, which wil

e
(A) . , -
nder PO - fficers of the Indian Navy would clrCumnavigate the globe o

ect 'Na@

7.~ rwomen O g 0017 H ARY, AR Jry N &n Ingig,,
team O med_ : ‘ lan.
# sa".ba%agﬁa 5 e @ s B RPN, R e Ay o @
ey puge 31 (B NSV Sindhu R () INSV Amba sir (D) sy Tarini i
() S
18, 2017, which Asian country launched jts fi .
on AUgUS related cases? 18 3T, 2017 &, fahg 'ts et cyberﬁgoﬁurt Sg;;alizing

8 - net- .
in handllngzén:%rq o UEeT Qrga} A IRy fobar 0 < A3

A) Japan T @) China @1 (C) South Korea =fw #fRr  (p)Thailand e
9. On August 18, 2017, Power Gfid qupgratjon annouﬁced that it will get vé loan of
55'00 millioh from which Int:r%ongl fl_nanqglﬁ;nstttution for its various projects? 18 3y
2017 @ TR FHIIRTT 34; IS (9w o™ % swad RAf aRals 3 R s00
() Asian Development Banl T SIHE 95 (B) World Bank faeg ¥

(C) Intemational Monetary Funquﬁ (D) New Development Bank 1 i &

30. Whoamong the following cricketer has continued to be the world’s top-ranked One-
day batsman in the latest ICC ODI rankings, released in Dubai on August 18, 20177 18
T, 2017 Y g@3 o AT oS W W v Ry sidusha ¥ A = A 4 sl W

fode feerd wafew W W a1 g &7 ci o] el
(A) ViratKohi  frie wree " (B) DavidWamer 3fr @R
(C) ABDe Viliers v & f& faferard "(D) JoeRoot' M %

31 Who.among the following has won a silver medat in the javelin throw- at the'ﬁrst World
Para Athletics Junior Championships in Nottwil, Switzerland? ;

R U Qoo feR SR 1 Fer 4 % e el G A ST <o o i 7
(A) Prince Ahuja i amew (B) Jatinder Singh fvee e

(C)  Prakash Jaishankar JHTI FGIHR (D) Rinku Hooda @ g<et

32 Requisitioning & Acquisition of Immovable Property (Amendrnent) Bill 2017, 3 b

. . _ t
?gg‘ﬁ%gg IOF amendment to the regulations governing Compensiﬁgnf'ng?:“f:ﬁgz;an
Of acquisiti : entral govern

e T T the(:n(;]r;ent to the*original act that came

the
into IE;ZS ?nb.h;\%" July 18, 2017, This bill is an am
N - OB W T 18 e, 2017 B IAA

TR & s ot & e JIT
W%mmmlug Eﬁ;ﬁm iy 3 o o ¥ 3T
4L e (B) 1951 o 10 © it
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33. A bil providing for Settin
was lntroduced i 9 up of the |

¥ . wdra IR o LK Sabhg o "Stitute of
i T S 12 iy, RO ey i
(A) Punjab 9<TTd e T s

(C)Telangana Q&I (B) Haryang

(D) Andhra =] )
34. The best example of the ok "adesh iy oy

R B PRV, T & fgyes tion of speci
(A)  Kiwi @l ™ T ag? t@%ﬁ:“; ' man's intervention is

(C)  Przewalski's horse seredt tirgy 22)) Dodo <y
' Bustard qwers
35.  Which of following utilises = ‘
m 6‘1@3 m ﬁ BH ﬁ Ik %?Sunhght IN a direct fashion? ﬁq 1\:[ % @ "\cg!i a\.‘_ Q’;‘

(A) .. Photo voltaic cell  w&191 areery o B) s
R it olar thermal cells €R &1 ¥
(C)- Bio gas production F i SW@ (D) Both A Bar A & B

36. In ‘Intemet’ term WWWW, the 4" W stangs for g TmEd § WWWW, F AW R

g a7
(A) Web (B)  Worm (C) Wreck (D)  Wsjk

37" IPv6 addresses have asize of:  |Pv6 Tai @1 W ¥
(A) 64 bits (B)  128bits  (C) 256 bits (D) 512 bits

38.  The Constitution of India recognises: ¥Rdfa HfAuT AT e @ -

(A)  Only religious minorities @a« efi® FeaHEaH] B

(8)  Only linguistic minorities dad MNP AaziEaD] BI . Eﬁiliﬁ)[

) .- Religious and Linguistic minorities enfi& 3R =% Acaewa e

o . v &1, R R AT SRRt B

(D) - Religious, Linguistic & Ethnic minorities
peror’s rule, number of Hindus employt

39.  During which of the following Mughal Em ‘
by Emperor's Administration was the highest? fra g IE B AEAEE § AE

TR ERT ey fRgall @ Aseir fear man At

[ PPN
(A) ~ ; Humayun 8] (B)  Akbar '
(C) - Shahjahan &gt (D)  Aurangzeb ARTToE |
40. --The Mansabdari system introduced bY Akbar was borrowed from the sys

followed in/a/@mar gR1 TS P T raagagn eI UKIER
(B) Turkey 3

(A)  Afghanistan s _
(C) Mongolia smferar (D) Persia Il



41. Who amon f ht Delhi
9 the following is said to have witnessed the reigns of eig
Sultans? fans ﬁ;@ﬁc—vﬁzgmﬁaﬁmﬁﬂmmmﬁwmg?
(2) Ziauddin Barani Rarggda s (B) Shams-i-Siraj Afif T=i—3—
(© Minhaj-us-Siraj fArer—av—Riera (D) Amir Khusrau 3R &Y
under

42.  The President of India referred the Ayodhya issue to the Supreme Court %

g&cgnﬁsmclwm%mﬁ%mfamﬁmw F Jfid

(A 143 (B) 132 (C) 138 (D) 136

43.  Right to privacy as a Fundamental Right is implied in TﬁtFﬂHal &1 AR Ta Hiferd
IR B w7 § aef 2y 2

(A)  Right to Freedom wd=mar &1 3I®R
(B)  Right to Life & Personal Liberty Sfta= @ik et wandiar &t :ﬂﬁm‘w

(C)  Right to Equality Famer T 3@
(D)  Right against Exploitation wiwor @ faeg sfyeR:

44.  The interval between two sessions of parllament must not exceed W % €7 qa‘r Ed
U H AR 3w I 78 2191 MRT 2

(A) 3 months #1e  (B) 6 months AT® (C) 4 months a18 (D)
45.  With reference to inflation in Ind|a which “of the fol!owmg statenients. is cor rect?
WRe ¥ Ry @ wed § et wet ¥ o @ o wdt @7

(A) Controllmg the inflation'in’ India is the responsublhty of thé’ é‘évernment of Indla only

ARG & a1 W G RIG TRT wRIR o Forserd ¥
The Reserve Bank of India has no role in controlling the inflation ﬁa‘cf TP ,:}IIEF

(B)
e @ YT W BT PR B e T R s ). TR RACA)

(C) Decreased money circulation helps m controlling the inflation aa?n gET eSS

RIEDIA BT AT e 8 o
Increased money circulation’ helps 'in controlling the inflation gzdr ‘gaT vr?r\mr

JarGIfy @ FERa Fwar @
Which of the following: brings out the 'Consumer Price Index Number for Industrlal
Wofkefsoﬁ”‘“*m‘smﬁmma%%vwﬁmqm Tapie’ T & 7

(A)  The Reserve Bank of India Rerd §& aife 3f¥ar
(B)  The Department of Economic Affairs anfi& Araeit @1 fwmy

(C)  The Labour Bureau %fie )
(D)  The Department of Personnel and Training ®1fies Td Wiwyor fam

47.  ‘Golden Revolution' is related to wqof IR wefdrg & - iy ST

gég ‘I;’Lr';a:ig@us minerals TET W (B)" Pulses Tray fohe
(D) Horticulture Frmamy i

100 days &=

(D)

2
=



ties
. TET B gy 'Mposed by the International Monetary Fund
(B) Ithasto borrow to make Interest ® 2 o
o ge Payments on outstanding Ioans @& T@mar Cal

@ forw #9 fhar o ga @
D) The World Bank char i
(D) 9€s a very high rate of interest on outstanding & new loans

49.  With respect to GST, consider following statements GST & vy 3 fiet @i T RER TR

Reduces cascading effect @mus wirg 5 55 ®ar 3

Is a comprehensive indirect tax a8 v& e amuE w1 -

Aimed at forging a common domestic market 3T e TR 1 FIR TR BT D 2
Alcohol and petroleum are exempted from GST #fexT 3R dgier 31 GST # Be WK &

(A) 1.2 3correct Wel © _ (B) 2,3 correct &
(C) 2.3, 4 correct W&l © (D) Al the above are correct & Wel &

>N

50. India’s current account deficit in Balance,of Trade is mainly due to HRd ® ATRIA

of oil:and petroleum det 3l dgiferrs @ s & 9fE RN

(a).Increasing imports 0 . ;
(b) Increasing imports of gold and silver |- 3iT? e mad ¥ gfE
(c) Increasing impogts of food grains @Tel ATt @ A ¥ gtE S
(d) Increasing imports of iron and steel oYe 3R gETE P AR ¥ gfg .

(A) (a), (b)and (c) o B) (a)and(c)
©) ...(a) and (b) (D) (a)and (d)

51. ... Find the minimum number of straight lines required to make the given figure.

. VR R 0 Y @ g @ o AT o e Yardt @ saeadar el
e @ o © 18 © 19

\‘i



ﬁ

best depicts the relatio
following figures nship among criminals,
e
wmch i iy Wﬁ@ﬁm‘iﬁ%ﬁammﬁam
: {hieves L l el &
fa

() © ©°
00 QOO@D

d (d)
A a (B) b © ¢ (0) .

o Find the number of triangles in the given figure: "

A) 18

® 20 © @) 27
il : (Pl e X2 o

s54.  Of the following two statements, both of wh1ch cannot be true but both can also be

false. Which are these two statements? 7= a1 @Al # } 'S <FF FoH T ﬂ‘gf & T

PRGN N A TP & | T SN THA PR E

I. All machines make noise T AR wR ¥ """'T"-"
II. Some machines are noisy. . B 7 IR I 5 S P

I1l. No machine makes noise A & e TR A Wé’l - e

IV. Some machines are not noisy B TN ?T‘R & P 1S e
A)1& 1] B) M&IV (C) 1&I. - (D) N&V B

55.  Insert arithmetical signs in the equatlon for it to be correct 8.4 2= 16
84 2=16 e 71 W& x4 @ forw B A @ R safRia ﬁ?rahmmﬁsqrm\"n?

(A)  + x B) -+

56.

(A) 3 B) 5

© w* @ Ar o

[ B

If af< 84x13=8, 37x13=6, 26x11=6, then T 56x22=7 _

©) . Tag i (OF M



57. If + means divi

ide, x Means — .+
value of 9+3+4-8x2 zf> , BT aref f?‘wm' Means multiply and ~ means plus, then find the
ar 9+3+4-8x2 XTI -, - 7 e oy sl — 1 e AR A

(A) 15 B) 17 © 18
58. ~ Find the next term of the sequence 1 8, 4 ® 2 ;

TR WEAT BT JaT FIIG? ‘ 1,'1._-3%7.391, 5 39 @9 fa=rg # an9 areh
w2 B s © 64 (0 16

59. David divides 78 by half and ad
d
AW W AT IND 11 S B, @) afq § amsﬁag'mwhat ”U";ber he gets at the end? 3fds 78 &

(A) 50 (B) 44y C) 167 (D) 83%
In a knockout football competition 23 teams participated. What was the least

60.

number of matches they needed to play to decide the winner? T& “sife—anSe” Bedrd
gferfiren & 23 & 7 AT AW | 379 W @ Riorar @ Fol 3 @ BT 39 Q@ 39 feaa 39
o g7 ?

(A) M (B) 21 (C) 22 62

61. At half past 5 in the evening, the smaller angle between the-hour & minute hands of
aclock is ¥ &1 5.30 g9, HSl & =S AR e @ Fiel S g &1 BleT FV & &

(A) 10° B) 12° (C) 15° (D) 18°

62..  Fillin the blanks Rex T %RY : BA_BA_BAC_ACB_CBAC

(A) AACB (B) . BBCA (C) CCBA.-.- (D) CBAC

63. Angles of a given triangle are in the ratio of 2:3:4. What kind of triangle'is the given
triangle? fRT T T ¥ PO BT AU 2:34 ¥ | AT TAT B . yHR. BT T 87
-7 %Z(B) Obtuse angle ¥ferd @roT

(A) Right-angled Ja®iT
© (D) Acuteangle =T IV

(C) Isosceles WAfgarg T
64. The houses of A and B face each other on a road going north-south, A’s being on
the western side. A comes out of his house, turns left, travels 5 km, turns right, travels 5
km to the front of D’s house. B does exactly the same and reaches the front of C's house.
In this context, which one of the following statements is correct? A 3R B & BX IwiR—

3T B AR G §¥ TP ST W TP g B AH arA Rerg € e A @1 R aRew @
HR B | AU B W SRR AT 2, A qoaT &, 5 A, @) Ao IR 8, AW HSAH B IR D B
W B G T 5 f6R. B a0 Fvar 21 B fReger a1 & @var & IR C B W D AHA TGS
TR | 9 6o A A A ¥ N a1 o g} 27

(A)  Cand D live on the same street. C 3R D % & ¥<F WX wEd &

(B)  C's house faces south. C T &R zRyomed) &
(C)  Houses of C & D are less than 20 km apart. C 3k D & & 20 3k & 39 P wE

(D) None of the aboveSToITT & PIE TEY



-

LN RN A

BEH, DGJ, (?), EJO, GLQ, INS, ?

(6,:) FLR (B) FIS (C) FKO () FIL g
6. H V.G T,FREP,? “;
A) KL (B) D,N C) C.D D) LK o
67. 4.3:10::8:7? .“{.;2
(A) 10 (8) 13 © 17 o) 14 i

68. If TOUR is written as 1234, CLEAR is written as 56784 and SPARE is written
as 90847, find the code for CARE af: TOUR %) 1034 fores ol 2, CLEAR & 66784 %@;

STl & 3R SPARE @1 90847 forar wrer & @ CARE &7 @Ye Tar &% °
(A) 1247 (B) 4847 (C) 5247 (D) 5847 N
r CIRCULAR

69. CALANDER is coded in a code as CLANAEDR. Find the code fo
under the same rule. Wdfd% smr § CALANDER @7 CLANAEDR Gnm? |3‘€]

Faa R CIRCULAR #—Rrar wrem: . _ . R

(A) LACANDER (B) CRIUCALR . . .. . -
(C) CLANADER . (D) = None of these Sudad # & :ﬁéq’éﬁf ‘:
70.  (a) Either he is happy or he is poor. a1 &Y a8 @wr & a1 98 T © | ’
(b) He is happy. T '\’g‘aé [ - DL Tl f’
Inference : He is poor. /@< ~ag Mm@ g ¢+ .. - oo e T RO\
cT e el S R
(A) The inference is definitely true I/ga™ qofda: /@ & vox v o v n oL apn L
(B) The inference is definitely false a7 ofaa: s &+« -0 0w e i)
The inference is probably false or true ¥9A= TWaq: [y AT N2 Y
(D) The inference can not be drawn AT &} fA&TEN o WdHaT & i}'
J

71.  (a) Those who are honest are good teachers. I $HMeR 2K €, 3 ared Rms %ﬁ ¥
(b) Hard working people are honest, W@’T ﬁma g, S
Inference: Hard work is the necessary quality of a good teacher, R
I - WEAd U A s & qEwd U e | I 0
(A) The inference is definitely true ST3HTT ofaa: 9 2 n SRR A
The inference is definitely false I ofaa: s & e ol

’
Y

S O i

(B) Lo 4
(C) The inference is probably false or true 3T THAT: I T1 [y g .-\:x_,-, . i
(D)  The inference can not be drawn 33# & f@TeT 1 warar, 8., . agry

ot i

72.  Based on the following statements, which is the correct‘5‘¢oh¢| N
Frafafad Somt ) @ JmR W I a1 9 f?ﬂ‘iﬁ‘li tf??:? P I 22 Fusion., d"";@
Only gentlemen can become members of the club. Many of the Members. of )
officers. Some of the officers have been invited for dinner. Paw W .the club C\g
mwglmﬂmzﬁmmﬁ%l@aﬁwﬁﬂﬁm\% BN
(A) All the members of the club have been invited for dinner Fq 3 gy il @ el

A
Ct rs
Ce H

id
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£i SUCIEG
(B) Some of the of?;:;::r ?
(C) Allgentlemen are e

Not gentg
(D) Only gentlemen har:embe’ ok
i w2

! fFar e been invi TS Tou & 2

g nVited for ginner Baq %gqm b v #

73.  Inafamily there arg hus ‘ IO 2 fy Wt TR S
invited to a dinner. Both gq and, wif

K

R ns w » tWo song
?vas at Home T g - ouatﬁto Play. Hu:lgg e daughters. Al the ladies were

] : : . W nd di t .
éﬁgﬁ off | E}T:h I3 IR Ay ™Y | qﬁ? IR a\% i x ln%ﬂ;eturn f(og\moff|cAe. tho;
A) Only vylfe was at h‘om.e'a\;aa T arer w8 o | BR YR B oA?
(B) Al ladies were at home ) N TR Ay il t 3
(C)  Only sons were at home e g3 R
)

Nobody was at home &k w g :{%‘;Y 3

ég,p.mga%ammwmmam@g?mﬁrga%oaﬁwmg Y 7 Z

(AP eof A; PATI AT} ' (B)F S :
(A)Pis maternal uncle of A, P, A | BT & ' (BYPand Y are sisters; P iR Y 783 &
(C) Aand P are cousins; A FRP TR A ¥ (D) None of the above; 74 & BXE T8

3]‘5, There are 5 books A, B, C, D & E placed on atable. If A is placed below E, C is
placed above D, B is placed below A and D js-placed above E, then which of the following
books touches the surface of the table? T& ¥ W 5 T&@ @ 13 & aR AT E & A
@ T &, C B D D HW W AT ¥, B B A D e W AR 2,0 BLE B HWR I AT

g,‘a‘ra?ﬁ#rwﬁaa%aamﬁ,mm%? gP:D
i c ®)." B I R £
?6. ~ o decamp’ would mean: - %’

(A)’ ~“Torémove tent (B~ o evict campers

(C) Todecrease pressure (D) To leave suddenly- -
?7. Which pair is wrongly matched? o

A) Discreet : Separate (B) Gamut‘:'Whole

C) Exacerbated : Increased (D)  Allude :Escape

78.  Identify the cofrect pair:

A) _ Elude ; Dodge , (B) . Allude : Escapeé.

(C) Forbear ~ (D) Latter : Afterwards
tg Aevil's advocate would be: " -

(A)  Anevil persbn , : ' '.:‘,(B) A counter argument presenter
g) Advocate of a criminal (D) Unregistered advocate
(M
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80.

~— N = 3

Satish heard it from the horse's mouth means:
a

uthoritative source (B) From a close friend

na _
Eﬁgr”; tahe closest family member (D) From his boss
Satishisseated______ Sunita. i
Besides (B) Beside (C) Clearly (D) Closest
Identify the incorrect pair: :
Moot :Debatable (B) Singularly : Individually
Regimen : Prescription (D) Sever : Detach

‘| haven't studied a lot lately’. Here, ‘lately' isa/an - - ... .. : _
Adverb (B)  Adjective (C)  Noun (D) Preposition .-

Which sentence of following is correct?

The flowers was arranged carefully.  (B) * The meeting start promptly at 1100,

Computers save time. - . (D)  Lightning strike indiscriminately.

Identify the incorrect sentencé:

None of the minutes Was wasted. L Sy P
None of the time was wasted.

Is any of the pizza left?

None of the above. AL v

Among the two statements:

(i) Either Satish or Sejal takes out the garbage et 5¥ R SR -

(i) Each of these prescriptions have side effects. = -« = o= e
Both are correct 7 (B) (i) is correct, (i) is incorrect
(i) is incorrect, (ii) is correct (D) Both are incorrect.

Choose the sentence that has incorrect. form of words: T v SR

When will you bring you're pictures to work? IS TR .
Itis your responsibility to go into details.

If you're planning to attend, do let me know AR
None of above. L ARER S il

| her speak on Friday night about the advantages of organic gardenlng
will have heard (B) would hear * * -
would have heard (D) will hear

Choose an incorrect/incomplete sentence:

The children in the park, including all those an the swings. |
Sarita is an excellent school teacher.

She couldn't believe the premise of the story.

| saw Dr. Ghosh because Dr. Khan Was on leave.
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(A)

94,
(A)
(C)
95.
(A)

96.

(A)
(B)
(C)
(D)
97.
(A)
(C)
98.
(A)
(C)
99,
(A)
(C)
100.

(A)
(C)

What is not correct if ‘nest js to bird'?

Hangar is to aircraft
Orchestra is to music fg; \\//vai‘rl:g :: :g g‘::se ’

The exact opposite of ‘Lascivious’ would mean:

—— (B) Chaste (C)  Fluid (D) Manifest
‘Repercussion’ would mean:
geactlion' ' (B) Concussion
ecollection (D) Cleverreply i
—_____ togooutto an Italian restaurant tonight?
Do.you like : (B) Are you liking
You like (D) Would you like
- Excuse me, ——__time please? _
You have the (B) Whatis
Have you got the (D) What

He likes reading. He was a reader. (Fill in the best fitting word)

Anxious (B) Enthusiastic  (C) Voracious (D) Fervent

| remember my sister taking me to the museum.
(Choose the best fit among the alternatives)

| remember | was taken to the museum.
| remember being taken to the museum by my sister.

| remember myself being taken to the museum by my sister.:
| remember taken to the museum by my sister.

‘To make a clean breast of means:  “ 28, %
To gain prominence (B) To praise oneself L
To confess everything (D) To destroy everything

‘To be above board’ means: L
To have a good height (B) To be honest
To have no debts ~ (D) To be beautiful

That which cannot be corrected means:
Unintelligible (B) Indelit?lg
lllegible (D) Incorrigible

State in which the few govern the many is called:

Monarchy (B) Oligarchy
Plutocracy (D) Autocracy
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